

Name: Abiodun Rolinat Inumidun

Matric No: 19/MHS001/009

Department: MHS (MBBS)

1)  $y = 2x^2$  at the point  $(1, 2)$

Solution

$$y = 2x^2$$

$$\frac{dy}{dx} = 4x \quad (1, 2)$$

$$m = \frac{dy}{dx}, \quad x = 1$$

$$m = 4$$

Equation of the tangent

$$(y - y_1) = m(x - x_1)$$

$$y - 2 = 4(x - 1)$$

$$y - 2 = 4x - 4$$

$$y - 2 - (4x - 4) = 0$$

$$y - 2 - 4x + 4 = 0$$

$$y - 4x + 2 = 0$$

Equation of the normal

$$(y - y_1) = -\frac{1}{m}(x - x_1)$$

$$(y - 2) = -\frac{1}{4}(x - 1)$$

$$(y - 2) = -\frac{x}{4} + \frac{1}{4}$$

$$4(y - 2) = -x + 1$$

$$4y - 8 = -x + 1$$

$$4y - 8 - (-x + 1) = 0$$

$$4y - 8 + x - 1 = 0$$

$$4y + x - 9 = 0$$

2)  $y = 3x^2 - 2x$  at the point  $(2, 8)$

Solution

$$\frac{dy}{dx} = 6x - 2$$

$$m = 6(2) - 2 = 8 - 2 = 6$$

i) Equation of the tangent

$$(y - y_1) = m(x - x_1)$$

$$(8 - y)$$

$$(y - 8) = 6(x - 2)$$

$$y - 8 = 6x - 12$$

$$y - 8 - (6x - 12) = 0$$

$$y - 8 - 6x + 12 = 0$$

$$y - 6x + 4 = 0$$

ii) Equation of the normal

$$(y - y_1) = \frac{-1}{m}(x - x_1)$$

$$(y - 8) = \frac{-1}{6}(x - 2)$$

$$(y - 8) = -x/6 + 2/6$$

$$6(y - 8) = -x + 2$$

$$6y - 48 = -x + 2$$

$$6y - 48 - (-x + 2) = 0$$

$$6y - 48 + x - 2 = 0$$

$$6y + x - 50 = 0$$

3)  $y = x^3/2$   $(-1, -1/2)$

Solution

$$\frac{dy}{dx} = \frac{3x^2}{2}$$

$$m = \frac{3}{2}x^2 = \frac{3}{2}(-1)^2 = \frac{3}{2}$$

i) Equation of the tangent

$$-1 \div \frac{3}{2} = -\frac{2}{3}$$

$$\frac{1+2}{3} = \frac{3+4}{6} = \frac{7}{6}$$

i) Equation of the tangent.

$$(y - y_1) = m(x - x_1)$$

$$(y - \frac{1}{2}) = m(x - (-1))$$

$$(y + \frac{1}{2}) = \frac{3}{2}(x + 1)$$

$$(y + \frac{1}{2}) = \frac{3}{2}x + \frac{3}{2}$$

$$y + \frac{1}{2} - (\frac{3}{2}x + \frac{3}{2}) = 0$$

$$y + \frac{1}{2} - \frac{3}{2}x - \frac{3}{2} = 0$$

$$2y + 1 - 3x - 3 = 0$$

$$2y - 3x - 2 = 0$$

ii) Equation of the normal

$$(y - y_1) = -\frac{1}{m}(x - x_1)$$

$$(y + \frac{1}{2}) = -\frac{2}{3}(x + 1)$$

$$y + \frac{1}{2} = -\frac{2}{3}x - \frac{2}{3}$$

$$y + \frac{1}{2} - (-\frac{2}{3}x - \frac{2}{3}) = 0$$

$$y + \frac{1}{2} + \frac{2}{3}x + \frac{2}{3} = 0$$

$$y + \frac{2}{3}x + \frac{7}{6} = 0$$

$$6y + 4x + 7 = 0$$

4.  $y = 1 + x - x^2$   $(-2, -5)$

Solution

$$\frac{dy}{dx} = 1 - 2x$$

$$m = 1 - 2x = 1 - 2(-2) = 1 + 4 = 5$$

i) Equation of the tangent

$$(y - y_1) = m(x - x_1)$$

$$y + 5 = 5(x + 2)$$

$$y + 5 = 5x + 10$$

$$y + 5 - 5x - 10 = 0$$

$$y - 5x - 5 = 0$$

Equation of the normal

$$(y - y_1) = \frac{-1}{m} (x - x_1)$$

$$(y + 5) = \frac{-1}{5} (x + 2)$$

$$(y + 5) = \frac{-x - 2}{5}$$

$$5(y + 5) = -x - 2$$

$$5y + 25 = -x - 2$$

$$5y + 25 + x + 2 = 0$$

$$5y + x + 27 = 0$$

5)  $y = \frac{1}{x}$  (3, 1/3)

Solution

$$\frac{dy}{dx} = x^{-1}$$

$$\frac{dy}{dx} = -x^{-2} = \frac{-1}{x^2}$$

$$m = \frac{-1}{x^2} = \frac{-1}{3^2} = \frac{-1}{9}$$

Equation of the tangent

$$y - y_1 = (x - x_1) m$$

$$(y - 1/3) = (x - 3) \cdot (-1/9)$$

$$(y - 1/3) = -1/9 x + 1/3$$

$$y - 1/3 + 1/9 x - 1/3 = 0$$

$$y - 1/3 + 1/9 x - 1/3 = 0$$

$$y + 1/9 x - 1/3 - 1/3 = 0$$

$$y + 1/9 x - 2/3 = 0$$

$$y + 1/9 x - 2/3 = 0$$

Equation of the normal

$$y - y_1 = -1/m (x - x_1)$$

$$(y - 1/3) = 9(x - 3)$$

$$y - 1/3 = 9x - 27$$

$$3y - 1 = 9x - 27$$

$$y - 1/3 - (9x - 27) = 0$$

$$3y - 1 - 9x + 27 = 0$$

$$y - 1/3 + 9x + 27 = 0$$

$$y + 9x$$

$$3y - 9x + 26 = 0$$